2 2 2
Haingute dZ,dZZ,Q,Q,a—i,ﬁ,a—i B TOUKe (1,1,2),ecm4
OX Oy OX° Oxoy oy

X°z+yz+xyz®=12.

2xzdx + x*dz + zdy + ydz + yz°dx + xz°dy + 3xyz°dz =0

(1,1,2): 4dx +dz + 2dy +dz +8dx +8dy +12dz = 0

12dx +10dy +14dz =0, dz = —de—Edy; a_ _ga_z = —5;
77 ox  T'ey 7

22dx” + 4xdzdx + 2dydz + 2z°dxdy + 6yz°dxdz + 6xz*dydz + 6xyzdz® + (x2 +y+3xyz’ ) d’z=0

(L1,2): 4dx* +4dzdx + 2dydz +16dxdy + 24dxdz + 24dydz +12dz* +14d*z =0

4dx? +16dxdy + 28dxdz + 26dydz +12dz° +14d%z =0

20x* +8dxdy +14dxdz +13dydz +6dz* + 7d*z =0

2dx? +8dxdy + dz (14dx +13dy + 6dz )+ 7d*z =0

20x? +8dxdy+(—gdx—gdy)(14dx+13dy+6[—gdx—gdyD+7dzz =0

20x? +8dxdy—(§dx+Edyj(gdx+gdyj+7d22 =0
7 7 7 7

_dez _&dxdy_@
49 49 49

d’z :de2 +&dxdy+ﬁdy2
343 343 343
o’z 274 o’z 142 9’z 305

ox? 343 oxoy 343’0y 343

dy?+7d°z=0
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3395. Hangute

2 2 2\ _
8x8y'ec}m F(x+y+z,x +y +z )_0.

F(x+y+z,xX"+y +2°)=0

Fl'(1+gj + Fz'(Zx +2z gj =0,
OX OX

Qz_m,h.@:w;zx_,_gz@:2Fl’(x_z)
ox F+F2z ox F+FR2z ox F'+F2z
@ _ RrR2y, & 2R(2-y), 0 2R(y-2),
o FeRz oy ReRa & F+F2z’

Fl’l’(1+aZJ 1+az +F1’2’(1+82J 2y+22az +F5 |1+ — o (2x+22@j+
OX oy OX oy oy OX

2 2
+F2';(2x+226—J 2y+222 +F’a . +2F, oz 8Z+z 0z |_

OX oy 8x6y ox oy  oOxoy
,,2F2’(z—x)2F2’(z—y)+F"2F2’(z—x)2F1(y—z)+F,,2F2'(z—y) 2F1’(x—z)+
“E+F2z F+F2z Y F+F2z F+F2z Y F+F2z F+F2z

2F'(x—2) 2F/(y—-1z 2 2
. (x=2) 2Ry )+Fl’az+2F e, , 0t =0,
F'+F2z F'+F2z oxoy oXxoy  Oxoy
4(2 X)( y)(FlgFIZ 2F1,2'F1,F2'+F22F1) 0z 82

0%z

+2F, ==+ (F/+F2z =0;
(F+F2z) > ox oy HRR2) S
4(z-x F'F? —2F!FF, +F.F, ' Eo% Bt E 2
(z-x)(z-y)(Ri Y F) Cor FA KRRy b b 82
(|:’+|:22) F'+F2z F'+F/2z oXoy
4(z-x)(z-y)(FiF? - 2R5RF, + PR )+ 2F) (F/+ Fy2x) (F/+ F,2y) pes

+(F'+F2z)—=0;
(F/+Fj2z) (R+F )8X<9y

oz Az-x)(z- y)(FiF)S — 2R FF, + FiFE )+ 2F; (F/+ Fj2x)(F/+ F2y)

oxdy (F/+F2z)
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3405. Hangure du,dv,d?u,d?v npu x=1y=1u :O,V:Z,ecnm

X y
e’ cosV =—=,e" cosV = =
V2 V2
e’ cosVdU —e" sinvdV = ax
V2
a9

e’ sinVdU +e" cosVdV = d

J2
e” cosVdU 2 —2e" sinvdudV —e" cosVdV ? +e” cosVd?U —e” sinvd?/ =0
e” sinVdU ? + 2e" cosVdudV —e" sinvdV? +e" sinVd?U +e" cosVd?/ =0

[OnAa BbIOPaHHOM TOYKM

_dx+dy
{dU—dV:dx du=—
dU +dV =dy dV:dy_dX
2 [ —
dU? —2dUdV —dV2+d%U —dAV =0 [dU?—dvZ+dU =0 |9 Y = dzxdy 2
dU?+2dUdV —dV2+d?U +d®% =0 |2dudV +d*/ =0 d2V=dX ;dy

u=xU, du=Udx+xdU,d?U =2dxdU + xd U
v=yV, dv=Vdy+ydV,d? =2dydV + yd*V
[ns BbI6PaHHO TOYKK

du:dU:dX;dy,

d’U =2dxdU +d°U =dx(dx+dy)— dxdy = dx*

v =y O
4 2

dx’ —dy? (dx—dy)’
2 2

d?V =2dydV +d* =dy(dy—dx)+



